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2. Kbeam®iiElxZ N THaDh ?
Yes. We can get about 1074 events of the signal. This is almost the same as experiment.
3. EDL B WRNGIDE D ?

About 4 times of #N (I=1/2) according to Winberg-Tomosawa kou.

£31 7AN=T RIS & 2 BRI 0. % (3.21) OBICOMETE

H Ve, 3N (3.23) ORBIERIC & 2 e aw, TSR LBEROME aemp P
id /&
Fx AN C | Vwr [fm] | awr [fm)] Gemp [fm]
TN (I=1/2)| 2 L3 0.22 | 0.240 + 0.003 [82,83]
7N (I=3/2) | -1 1.6 —0.11 | —0.122 + 0.003 [82,83]
KN (I=0) 0 0 0| 00284
IfN (= 11) —2! 8.1 —0.42 | —0.33 [84]
KN (I =0) 3 =1 241, 0.63 | —1.70 + 0.68i [84]
KNIl 1 —4.0 0.21 | 0.37 + 0.60i [84]
m (I =0) 4 —6.4 0.46 | —

4. mpldRFI N D ?

For example, it is well-known that pion exists in nuclei. However, this pion is not a real
particle. In addition, the interaction between pion and nuclei is repulsive, so pion cannot be
bound inside nuclei. About 5, some researchers are searching y N bound state.

6. J-PARC E15DAMCK pps EIFHER I LT RO T ?
There is clear signal of that only in J-PARC E15. The other could not reject back grouds.

7. Missing mass-—> T &9 \» 9 =i ?
10. Internal structure & X BARIC 2 Z3UE £ 9 o TN S ?

12. Under construction® BARM 2 fE# %2 B2 TL 2 &\,
The situation is that CNC will arrive this winter, sorenoid will be finished by spring in
2025, York is in Tukuba and CDC is in J-PARC.

13. ED k) IchiFzidd2DTEH?
14. R-whiroEdiE->TED L 5o ? From a hundred to 7 hundreds MeV/c.
15. CDCECNCoOfEI ?
CNC will be used for online trigger, particle identification. And CDC will be used for
analysis of particle momentum and veto detector for neutron.

16. ESOICZM L 7 BiiZ 2
Because I'm interested in high density and my proffecer “Ohnishi” joins ES0.
[ said to him “I want to study in J-PARC”. That’s why [ joined E8O.



17.

20264 ICE80%Z CTE L DIIMEFE LD ?2 b L TERDP -6 EITHD?

Yes. If it cannot, I will analize the data of E73 and show the “K~ppn” by usiing Ad

decay channel.

18.

19.

HIMIHE I3 25 2T\ 5 ?

30T H RO 2B 2T & v (HAETEK)
FHIIZAWHEIETION b H % & 9 RlEEE LR REBHFEL £7, BandoHiEk -

WIiEH D FHAL, 2L TEERA, LBL, BRADIVL—T13%D &k 5 LBEEIZILET %
EEEIREEZ EoT W AR H D £9,  LAMICZ 9 B o KFBHTT,

20.

21.
22.
23.

26.
28.
34.

KNN=K " ppT{ D ?

CNCT A b B BRI L 7z ?
CNCT A FEETHAIE- /-2 L1 ?
BEEREEI LD ?

Kaonic nuclei® #8122 F3 6w ld ?
50MeVIiZKRE VD ? eI d ) £ 3572
WEZNDJPARCET3IHHTEE LT E, BN IZ? EALHEER?

35. Is there a reason why you chose the K? Can't you experiment with other particles?
Because Kbar N interaction is much stronger than other interaction, N-N, pi-N, eta-N for

example. It is easy to observe someting spetial.

36.

38.

CDCERIZEI DL EZETHRIENP 27D ?

ARSI v ?




